MATH 102.1 (Term 161)

Quiz 5 (Sects. 11.1, 11.2 & 11.3)

Name:

Duration: 20min

ID number:

1.)(2pts)Find the limit of the sequence {n(Vn2+1- n) }:11.
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2.)(4pts)Evaluate the sums Y >° s

)
n=3 n2—n-2°

3.)(4pts)Do the series converge or diverge Dl @%ﬁ’ Yooy (n1_2 + nZ‘il) ?
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MATH 102.3 (Term 161)
Quiz 5 (Sects. 11.1, 11.2 & 11.3) Duration: 20min

Name: ID number:

. " 3/2 1\ 1%
1.)(2pts)Find the limit of the sequence { ( \/W \/—) }n:l-
2.)(4pts)Evaluate the sums Y > g—z:;—i, 2

. = n2+2n 2
3.)(4pts)Do the series converge or diverge > »°, —1—, 3>, 2 i2ntl -
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